Back Canes and Stroller Handle Assembly

_
_
|
_
_
_
_
/TN~ _
. o Ve
N ./ ( ~
O~y |
\\ 4 \ _
\Y\ \ _
/
/9 / _
s \ —
i O\ w
/S AN T 6J _
A\ \ A o /n\ _
4 \* |
TS
\ \\\_ \ 3 . _
7 / ) _
=N (] |
s ; (=
& |
.- i

— ~/ /

Py AN, S
AR \\\ NN \/
/AN / S

VAN / /

/ \\N /7

( \\ NN (Y

N/ \ /

T/ \

NN /
/ )

r—-————
_ A
VANERN
_ / //N
/o
_ AT AN / /
AN SN S
y — / — /
_ / VA /S /
! / / o/ y.
/
_ ///1\\ / / of
/ ;) /
/ / / /
_ \ \ / \
hN / / /
%) /
_ < / /
S \ /
— ~|/
| = 2
- S
_ g
N
_ ~3
g |
e %
(= A
N
N

o
=
/
/
) e
A\ - ) ) P
( [ Ty
N = A
Y\ I/ AN
// // \ \\ o
— \ \ /S -
o Y /)
A
//ﬂ(l.\\ﬁ///// /A\\ \\ \\
L / ‘MQ \\ \/
~d / J VAN
(m ./ / /J\
= 7 s VN / =)
/o / / 2 Wm/ﬂ%/mw\\ XV,
ﬁ A / \\ Mf/ﬁ//[w//u\ -
\ N \\ \ %\ /wb
N\ \ \\ / / ,/
N \ / %
\ N/ / U —
NN / / ‘o~
\ K/ /&
\
Aﬁﬁ\ ‘o



Back Canes and Stroller Handle Assembly

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly

1 A 1038249-NLA | NLA - Tube, Cane Slide, Black 1 1
1 B,F 1038250-NLA | NLA - Tube, Cane Slide, Black 1 1
2 40188X009 Button, Single Snap 1 1
3 1016298 Grip, Push Handle 1 2
4 1029959-NLA | NLA - Cane, Back, Black - Right 1 1
4 1029960-NLA | NLA - Cane, Back, Black - Left 1 1
5 1027095 Plug Button, Black (7/8") 1 1
6 7930323-NLA | NLA - Package, Locknut (1/4-20) 25 3
7 1025331-NLA | NLA - Bracket, Back Mounting, Black 1 1
8 1008432 Screw, Socket Button Head (1/4-20 x 1-1/4") 1 1
9 1026031-NLA | NLA - Nut, Hex with Nylon Cap (#10-32) 1 1
10 1026034-NLA | NLA - Washer, Nylon (3/16 x 7/16 x 1/8") 1 1
11 1025334-NLA | NLA - Bracket, Latch, Black - Right 1 1
11 1025335-NLA | NLA - Bracket, Latch, Black - Left 1 1
12 1025343-NLA | NLA - Screw, Flat Head (#10-32 x 1-1/2") 1 1
13 1002102-NLA | NLA - Washer, Wave (3/16 x 7/16 x 1/16") 1 2
14 1020363-NLA | NLA - Spacer (1/4 x 1/2 x 1/2") 1 1
15 1025337-NLA | NLA - Latch 1 1
16 1025325-NLA | NLA - Spring, Torsion - Right 1 1
16 1025326-NLA | NLA - Spring, Torsion - Left 1 1
17 1029923-NLA | NLA - Back Cane Assembly - Right 1 1
17 1029924-NLA | NLA - Back Cane Assembly - Left 1 1
18 1001634-NLA | NLA - Cap, End, Protective, Black 1 2
19 40314X001-NLA | NLA - Ring, Retaining 1 2
20 1025350-NLA | NLA - Grip, Foam, Bottom 1 1
21 A 1025341-NLA | NLA - Rod, Release 1 1
21 B 1029922-NLA | NLA - Rod, Release 1 1
22 1016254 Grip, Push Handle 1 1
23 C 1025359-NLA | NLA - Tube, Spacer, Black (1") 1 1
23 D 1025360-NLA | NLA - Tube, Spacer, Black (2") 1 1
23 E 1029930-NLA | NLA - Tube, Spacer, Black (4") 1 1
24 1014386-NLA | NLA - Screw, Phillips Pan Head (#8-32 x 5/8") 1 2
25 1045470 Pin, Quick Release with Lanyard 1 2
26 1038243 Handle, Stroller, Black - Right 1 1
26 1038244 Handle, Stroller, Black - Left 1 1
27 C 1038252-NLA | NLA - Stroller Handle Assembly, Black (12 - 13" W) 1 1
27 D 1038253-NLA | NLA - Stroller Handle Assembly, Black (14" W) 1 1
27 E 1038255 Stroller Handle Assembly, Black (15 - 16" W) 1 1

NOTE: A -12-14" Wide Chairs

B - 15-16" Wide Chairs

C - 12"-13" Wide Chairs
D - 14" Wide Chairs. No longer available as a service part, must order Frame Width Growth Kit (1040142) as its replacement.

E - 15"-16" Wide Chairs

F - No longer available as a service part, must order Frame Width Growth Kit (1040142) as its replacement.




